SCariny: e see ato focao cie G

TALIANA

ferrame

BANG GIA PHU KIEN HOAN THIEN ITALIANA

Ha Ngi, Ngay 01 thang 01 Nam 2022

" A A A A A T o DPon gia
TT Picture (Hinh édnh) Decription (M9 td) Picture (Hinh dnh) | Item code (Ma so) bVT 2022(VND)
FLIPPER 14mm
~ ) 10601020 .
1 \ Shelf support FLIPPER 14mm white E’ AB/IG/MB chiéc 2,450
~ i
2 Shelf support FLIPPER 14mm brown 1 10601020MB chiée 2,450
3 Shelf support FLIPPER 14mm grey 5 t 10601020JG chiée 2,450
4 Smooth dowel for FLIPPER @5 x L.8,5mm Zk > 10605010ZN chiéc 3,800
£
FLIPPER 18mm
5 Shelf support FLIPPER 18mm white 9 10601030AB chiéc 3,600
s -
6 Euro dowel for FLIPPER @5xL.8,8 Zk o 10604010ZN chiée 1,500
*
UNICO - Chét dot gb
.
a Shelf support UNICO EURO grey bright Nk ’ ! 10702010YA chiée 11,200
7 P
e
" gl Shelf support UNICO @5 grey bright Nk ' ] 10701010YA chiée 11,200
" .
KERALA - Chét dot g6 nhua bd
"\'
KERALA shelf support plastic white N 12001000AB chiée 2,900
8 KERALA side dowel @5 plastic white 12001010AB chiée 3,300
7 : KERALA side dowel @3 Zinc Alloy /fé 12001060YA chiée 13,700
SPRING - Chét dgt gb (16 x0)
~ \ ——
9 SPRING shelf support plastic white @5 (min.T=16mm) Q’ 108020101J chiéc 7,700
PAD - Chét ¢b dinh
10 ~— . I ; ‘ PAD permanent dowel L35 @= 9,3 mm Euro for 18mm "r‘ 2162300000 chide 4,300
{ Green
| |
1 J - | | PAD permanent dowel L35 @8,8mm Euro for 18mm 2162301000 chide 4,300
B l Black
L]
ELEFANT - Lién két thung ti a0
| = .
| ’ ELEFANT connecting fitting 19 mm Nk W ; 11901010YA chiéc 52,900
12 '
i Insert Nut M8x12x15 plain 0 20103010GR chiéc 4,300
| &




Don gia

TT Picture (Hinh édnh) Decription (M9 ta) Picture (Hinh dnh) | Item code (Ma so) bVT 2022(VND)
PK2 - Chét dot c6 khoa lién két bd
i ,
Support for PK2 19mm w/cam pin ZK grey19 114010301 chiéc 5,600
13 Bracket PK2 19mm with euro hole Nk . 11403010YA chiéc 5,600
A
Template for PK 2 ‘ 1145001000 chiéc 7,900
MAORI - Chét dot gb Bd
\ =
y y \ MAORI shelf support 19mm grey * 117010701L chiée 2,900
| \ y
14
MAORI 19mm bracket with hole Nk = 11710010YA chiée 4,000
MAORI shelf support 25-29mm grey *" 117011001L chiée 3,200
15
MAORI 25mm bracket with hole Nk = 11716010YA chiéc 4,400
VIS - Lién két giwdng/chin ban Bo 61,500
Connector dowel for VIS M8 d.9 L.40 hole centre 21210040ZN chide 19,200
25mm Zk
Insert Nut M8x12x15 plain A Pl 20103010GR chiée 4,300
Grub screw M6x15,3mm Zk 21101060ZN chiée 5,200
VIS connector d.35mm, double position 22mm Zk 21626000ZN chiée 32,800
SECRET Maxi - Lién két ti k¢ diy 25mm B 41,700
Shelf support insertion on the shelf SECRET MAXI .:x‘é\‘\“ .
SL25 Grey ?) - 122240001J chiéc 33,400
Secret Maxi for 25mm, side bush .ilos:a 122260001J chiéc 8,300
Dung cu Iip dit chdt dot Secret Maxi
Template for body part,Secret Maxi ¢ Frg ) 1226200000 chiée 1,435,000
Template for side part, Secret Maxi -~ Q 1226400000 chiéc 1,435,000
Chét dot g6 Minisecury
4 §
| ) L <
19 H Shelf support MINISECURY with 2 pegs mm.5 Nk N :‘ , 10206010YA chiéc 3,800
N i ‘—‘
K-LINE, Chét dot gb & kinh
-
T -, ‘
Shelf support K-LINE w/1 pin @5 Nk N 10208020YA chiéc 2,900
20 Shelf support K-LINE w/1 pin @5 Titanium 1 102080202 chide 2,900
Rubber pad for K-LINE shelf support 10208060AA chiéc 1,500
KRISTAL, kep kinh tii ¢6 khoa bing vit
21 KRISTAL glass support 5-6mm pin @5 Cr 16113040KB chiéc 29,200

LA("




22

23

26

KUBIC main body pin @5 Nk/White

16019021YA

chiéc

KUBIC upper part w/o rubb glass 5/9mm Nk

KUBIC main body pin @5 Bzk

KUBIC upper part w/rubber glass 4/8mm Bzk

Shelf support Kalabrone Mini Bright Chrome

Shelf Support MOON 15+50 - Bright Chrome

Shelf support MOON S 4+25 - T-Met

Shelf support Kalabrone 8+30mm Stainless

Shelf sup. KAIMAN 8-40mm stainless

Concealed shelf support TRIADE MINI/ TRIADE

16019130YA

16019020WI1

chiéc

16019140WI1

16220080KB

16226010KB

16228010UZ

16220010YD

16102020YD

chiéc

chiéc

chiéc

chiéc

chiéc

108,000

585,000

560,000

425,000

520,000

LOCK 25mm / 1621401000 chiéc 195,000
29

Bracket for TRIADE MINI Zk K 16215040ZN chiée 120,000

TRIADE/ TRIADE LOCK 25-40mm /‘/ 1621501000 chiée 190,000
30

Bracket for TRIADE Zk K 16215020ZN chiée 95,000

Concealed shelf sup. TRIADE MAXI 40mm % 1621601000 chiéc 260,000
31

Bracket for TRIADE MAXI Zk ‘ 16215030ZN chiéc 110,000




Pon gia

. oy o . . A g . < 2 ~ A

TT Picture (Hinh édnh) Decription (M9 ta) Picture (Hinh dnh) | Item code (Ma so) bVT 2022(VND)

Chét dot g6 TRIADE XXL
. 1621701000/ "

32 Concealed shelf sup. TRIADE XXL min.40mm 21105060ZN chiéc 330,000
REKORD - Chin diéu chinh 4m vich

3 REKORD @12mm; 3030101000 chide 68,500
hole centre 52mm
REKORD @12mm; 3030102000 chiée 72,500
hole centre 70mm
Level adjuster REKORD @14mm Hole centre=52 mm. 3030201000 chiée 52,900

36 Level adjustor REKORD @14mm Hole centre=70mm. 3030202000 chiée 59,500
INTEGRATO Z - Chén diéu chinh am diy ti
Chan diéu chinh Adjust. leveller INTEGRATO Z 330

37 H17mm, mau 30108010EA chiéc 35,000
den

38 A[?JUSTMENT Leveller INTEGRATO A/.../G height 3010601000 chide 47,500
adjust 0- 12 mm
ADJUSTMENT Leveller INTEGRATO A/.../G height 3010602000/ X

3 adjust 0- 25 mm 3010604000 chiée 47,500
ATACAMA J - Chén diéu chinh c6 lién két B 138,800

-
. — !

leveller ATACAMA J adj £ g 317010001J chide 112,500
.20mm Zamak grey =

40 Insert Nut M8x12x15 plain % Jg}) 20102020GR chiéc 2,800
PLINT CLIP 37mm, 31501030W1 chiée 23,500
harmonic steel
Nt nhin mé cinh cira K-PUSH TECH (dAu cao su/diu nam chim)

41 K-PUSH TECH 14mm concealed w/buffer grey 570020401J chiéc 81,500

‘lml = .
42 K-PUSH TECH 14mm concealed w/magnet grey 570020201J chiéc 99,500
43 K-PUSH TECH 20mm concealed w/bufer grey 570040401) chiéc 81,500
1,‘,, -
44 K-PUSH TECH 20mm concealed w/magnet grey 570040201J chiéc 99,500
45 " |K-PUSH TECH 37mm concealed wibuffer grey 570080401J chiéc 99,500
‘ P
46 K-PUSH TECH 37mm concealed w/mganet grey 570080201J chiéc 110,000




57

58

59

60

61

KRABY frictioning opening L244; N60 Beige

KRABY frictioning opening L244; N90 Beige

KRABY frictioning opening L355; N120 Beige

K12 System lift up L.244mm; N80 T- Met

K12 System lift up L.244mm; N100 T- Met

K12 System lift up L.244mm; N120 T- Met

@

3 Aoy q ~ Pon gia
TT Picture (Hinh édnh) Decription (M6 ta) Picture (Hinh anh) | Item code (M s6) PVT 2022(VND)
47 K-PUSH TECH shell 14 and 20mm grey . 570150201J chiée 9,900
/ ‘
48 K-PUSH TECH shell 37 mm grey 570250201J chiéc 10,500
49 K-PUSH TECH mounting plate 14 and 20mm grey 570150401J chiée 8,900
/
5 &
50 K-PUSH TECH mounting plate 37mm grey 570250401J chiée 9,500
a @ ’
= oo 74 A | A ,
51 z i -*; Vit na_m cham K-PUSH round plate @3mm L14 for ;r 55006100YA Chiée 6,300
screwing Nk
B L L
52 -}-} K-PUSH round plate @10 w/pin @5mm Nk 55006040YA Chiée 6,300
i 1o ]os L
53 KRABY automatic opening L244; N80 Beige 42111010UZ chiée 430,000
p
54 KRABY automatic opening L244; N100 Beige I 42112010UZ chiée 545,000
55 KRABY automatic opening L355; N120 Beige 42113010UZ chiée 605,000

42012010UZ chiée 545,000
42013010UZ chiée 545,000
42014010UZ chiéc 635,000

48020460UZ chiéc 580,000
48020480UZ chiéc 580,000
48020500UZ chiéc 580,000




73

76

Oopm
canet

Cabinet hanger LIKU

6380100000

TT Picture (Hinh énh) Decription (M6 ta) Picture (Hinh dnh) | Item code (Ma sb) bVT Don gid
2022(VND)

62 K12 System drop down L.244mm T- met 48060200UZ chiéc 670,000
63 K12 System drop down L.355mm T- met é 48070200UZ chiéc 770,000

Plate for KIMANA hinge Nk ?/’ 40120000YA chiée 96,000
64 KIMANA hinge main body Nk ’ 40120010YA chiée 108,000

4

KIMANA cover Nk ’ 40120040YA chiée 11,000
65 Kimana Adapter 1.5mm 40115320YA chiée 15,300
66 Kimana Adapter 2mm 6 40115340YA chiée 15,300
67 Kimana Adapter 3mm 40115360YA chiée 15,300
68 QUICK Worktop connector @30mm M8x50Zk 2161101000 Bo 77,000

;‘"’

69 QUICK Worktop connector @30mm M8x150 Zk d P 2161102000 Bo 90,900
70 QUICK Worktop connector @35mm M8x64 Zk ¢ 2162101000 Bo 77,000
71 QUICK Worktop connector @35mm M8x150 Zk 2162102000 Bo 90,900

Round cap for Quick @30mm worktop connector ’S 2161001000 Bo 10,900
72 f

Round cap for QUICK @35mm Worktop connector . 2162001000 Bo 10,900

chiéc

255,000

Wall plate LIKU ZK

M@c treo &m trén

63802400ZN

63412020EA

chiéc

75,000

48,900

Moc treo am dudi

WP1 wall plate to be split in two pcs Zk

63412030EA

63450010ZN

cai doi (trai +

42,000

phai)
LIBRA H1 hanger screw fixing Zk . 634200152N | 2 °h1;°1 ;it)‘a‘ * 115,000
Oval cover cap CC1 @12, plastic white 63461010AB Chiée 4,000




TT

7

78

79

80

Picture (Hinh énh)

Decription (M6 ta) Picture (Hinh énh)

APC6 hanger w/@15 dowels right Zk

Item code (M3 sb)

bVT

Pon gia
2022(VND)

. 65210020ZN Chiée 63,400
APC6 hanger w/@15 dowels left Zk** 65210030ZN Chiée 63,400
WPC2 wall plate Zk ’ 65230010ZN Chiée 12,900
Cover cap d.20mm for hanger APC white 65270100AB Chiée 2,300

cai doi (trai +

WP1 wall plate to be split in two pcs Zk 63450010ZN phai)
LIBRA H3 hanger pins D10 left Zk 63420050ZN chiéc (trai) 61,500
LIBRA H3 hanger pins D10 right Zk 63420040ZN chiéc (phai) 61,500

cai do (trai +

WP1 wall plate to be split in two pcs Zk 63450010ZN phai) 19,500
LIBRA H4 hanger left Zk 63420200ZN chiéc (trai) 67,500
LIBRA H4 hanger right Zk 63420210ZN chiéc (phai) 67,500

cai doi (trai +

81

82

WP2 wall plate ABC to be split in 2 Zk 63450020ZN phai)

LIBRA H6 hanger w/pin @15 left Zk+C181 63420510ZN chiéc 190,000
LIBRA H6 hanger w/pin @15 right Zk 63420500ZN chiéc 190,000
WP5 wall plate ABC to be split in 2 Zk (or use WP2) 63450050ZN cai oi (trdi + 70,000

LIBRA CH wall hanging vertical profile Type A
L.450mm w/1 end

6400443100

phai)

chiéc

350,000




Pon gia

. o 2 g s . < 2 ~ A
TT Picture (Hinh édnh) Decription (M9 ta) Picture (Hinh dnh) | Item code (Ma so) bVT 2022(VND)
LIBRA H7 (s0i 18) - H& mdc treo tii bép dwéi/ Ké lavabo B 580,000
;LBRA H7 dowel fixing with "peg joint" f/alum.bar left F q 63422210ZN chide 255,000
|
L.IBRA H7 dowel fixing with "peg joint" f/alum.bar ke 1 63422200ZN chide 255,000
right Zk |
- cai doi (trai +
WP5 wall plate to be split in two pcs Zk 63450050ZN phii) 70,000
LIBRA H7 (Ip vit ciy) - Hé méc treo tii bép dwéi/ K¢ lavabo Bo 580,000
;\IIBRA H7 screw fixing with “peg joint" f/alum.bar Left 63422250ZN chide 255,000
L!BRA H7 screw fixing with "peg joint" f/alum.bar 63422240ZN chiée 255,000
Right ZN
. cai doi (trai +
WPS5 wall plate to be split in two pcs Zk 63450050ZN phi) 70,000
LIBRA H11 - H¢ méc treo tii bép duwéi/ K¢ lavabo Bo 480,000
Libra H11 Hanger - Left P1905620ZN chiéc 205,000
Libra H11 Hanger - Right P1905940ZN chiéc 205,000
Insert Nut M6x10x10 plain @ 20102010GR 8 chiéc
Screw flat head PZ2 Méx12mm Zk S 20819020ZN § chiéc
Euro screw pan head @5,9 L 14mm Zk e 60507030ZN § chiéc
o cai doi (trai +
WP5 wall plate to be split in two pcs Zk 63450050ZN phai) 70,000
Libra H11 cover cap right, white/anthracite 63490720AB/EE 15,800
Libra H11 cover cap left, white/anthracite 63490710AB/EE 15,800
Thanh nhém ting cwdng tuy chon theo tii trong ti treo
H. 402 MM ALUMINIUM BAR
85 Aluminium profile H.40 L=1200mm for Libra H7 ‘i 6701200400 thanh 350,000
11.00.5 MM ALUMIMUM DAN Optional §
4 %
86 _‘— Aluminium profile H.80,5 - L.1200mm for Libra H7 I 6711022400 thanh 535,000
~
H¢ cép treo dung cho cinh mé xuéng - LINK
87 LINK Opening System N262 T-Met 1 47020020UZ chiéc 1,435,000
e
88 LINK Opening System Q300 T-Met b = 47038020UZ chiéc 1,620,000




TT Picture (Hinh énh) Decription (M6 ta) Picture (Hinh dnh) | Item code (Ma sb) bVT Don gid
2022(VND)
89 LINK Opening System U262, White '— 47030020AE chiée 1,435,000
LINK Opening System U262T-Met g 47030020UZ chiée 1,437,500
KIARO opening system wire L.600mm 46006000YQ .
Black NK/ Nk 46006000YA B 1,870,000
91
! file f -
Aluminium profile for KIARO L.550mm [ e 46205500FV
Gunmetal/T-Met = e 46205500UT Thanh 70,000
92 Panelvit screw flat head PZ2 @4x31mm Nk / 60113020YA chiéc 1,700
93 Connecting tube with flat head M4x5x27 Nk / 20820010YA Bo 2,800
94 Connecting tube with flat head M4x5x30 Nk / 20820020YA Bo 2,800
95 Screw with flat head for connecting tube M4x15 Nk « 20821020YA chiéc 700
96 TARGET J10 - Screw M6 'f P1510020ZN Chiéc 25,000
97 TARGET J10 - Screw Euro 11 mm P1606820ZN Chiée 25,000
98 Pinion @10 for tck. 16mm P1502783ZN Chiéc 9,900
99 Pinion @10 for tck. 19mm P1610460ZN Chiée 9,900
Sur dung cho van day 16mm Bo 25,000
101 Su dung cho van day 25mm Bo 25,000
e Doule-ended dowel @7 L.31mm Zk 21405020ZN Chiée 40,300
)
= ‘ ) -~
RO
102 @ I Cross dowel @14 for 18mm w/o flange ZK 21004010ZN 2 Chiéc 8,700
i '
® | @'
¥ (i
" .‘{' - Grub screw cross socket M8x10 Zk 21102030ZN 2 Chiée 3,000




Don gia

TT Picture (Hinh édnh) Decription (M9 ta) Picture (Hinh dnh) | Item code (Ma so) bVT 2022(VND)
-
Cross dowel @14 for 18mm w/o flange ZK ,."'lk | 21004010ZN 2 Chiée 8,700
— ‘ s
|74y | Y
108 | +=8-—H | ———- H- SN g
L Grub screw cross socket M8x10 Zk 21102030ZN 2 Chiéc 3,000
1 .4 1.4 "
I )
% Pinion @10 for tck. 19mm /"" 21202010ZN chiée 8,300
g
Pull-in Corner Brack
LI ,,,,,,
3 ~2
104 - Pulling bracket 20x17 zinc nickel . 10203010YA chiée 4,600
4
- LR :
105 g - In-Fame door bracket type A 13.6x13,15mmNk kK }_ y 63212000YA chiéc 5,800
[ >/
Nat ém SOFT
106 j Door stop hole @5 2-mat. transparent 2320301022 chiée 1,400
= = i
107 ) Door buffer SOFT transparent 23203050AA chiéc 2,100
Nip dan bit 18 vit
108 Adhesive cover cap d.16 White 13744 23014070AB 20 chiéc/ sheet 16,000
109 ‘ ‘ Adhesive cover cap d.16 Grey 93520 230140701G 20 chiéc/ sheet 16,000
110 Adhesive cover cap d.16 Oak 4569 230140700N 20 chiéc/ sheet 16,000
111 = : S) Adhesive cover cap d.16 Cherry 9118 ‘ 23014070PS 20 chiéc/ sheet 16,000
112 Adhesive cover cap d.16 Walnut 6198 ‘ 23014070QY 20 chiéc/ sheet 16,000
113 i " Eccentric cover cap 35 mm 23011010 AB chiée 5,500

A

Ghicht:

Pon gia: Chua bao gdm 10% VAT

Pon gié trén co thé thay ddi ma khong bao trude, Quy khach vui 1ong lién lac truc tiép dé chung toi tw vén, giai dap thic méc va bao gia cap nhat cho san phim./.

CONG TY TNHH CARINY VIET NAM

Pa ky




